BT TRIA O - HEHHEE X T ﬂ?ﬁkjeﬁm AXBE
- I:I - 3 I:I
BT T2 | MR T8 T = BT T2 | MR8 T =%
HRX 38,855 86,805 41,372 45,433
RIRET1T 6 15 9 6
RIRET2T 28 56 27 29
RIRET3T 177 587 290 297
RIRET4T 409 997 495 502
B 620 1,655 821 834
REH 2,669 6,186 2,882 3,304
L&A 4213 9,459 4,452 5,007
BE 2,571 5,983 2,912 3,071
5 WA 1,265 2,858 1,326 1,532
BERT 1,317 1,991 945 1,046
BER2T 718 1,366 662 704
BHERST 385 857 413 444
g 2,420 4214 2,020 2,194
BARE 279 680 350 330
= 2,199 5,206 2,467 2,739
hERE 619 1,433 651 782
e 2,451 5,264 2,535 2,729
25 L ET 2,308 5,141 2447 2,694
B &AL BT 76 161 66 95
HEFILET1T 561 1,206 567 639
HEFILET2T 614 1,356 642 714
HEZFILAT3T 617 1,439 708 731
g 1,868 4,162 1,983 2,179
B & it B Fr ET 682 1,620 785 835
BHEREBET1T 602 1,241 593 648
BHERERET2T 764 1,744 840 904
BHERERETST 789 1,694 776 918
HERERET4T 461 959 460 499
HEHFMHETST 819 1,712 809 903
HEHFHET6T 886 1,971 954 1,017
HEFRET7T 872 1,899 927 972
HERERETST 70 224 105 119
£t| 5263 11444 5,464 5,980
HEF R FET 1,855 3,946 1,916 2,030
S|EFET1T 575 1,555 776 779
S|EFET2T 764 1,810 855 955
S|EFET3 T 715 1,410 644 766
g 2,054 4,775 2,275 2,500
ERE1T 573 1,359 650 709
EIRET2T 390 1,047 526 521
EREIST 480 1,312 644 668
EIRETAT 694 1,505 674 831
EIZEIST 491 1,009 511 498
g 2,628 6,232 3,005 3,227
MEH 2,782 6,324 2,984 3,340
J\THET1T 32 35 12 23
J\THET2T 27 72 34 38
J\THEI3T 50 116 51 65
B 109 223 97 126
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